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B. A. (ECONOMICS) (BAG)

Term-End Examination

December, 2023
BECE-145 : INDIAN ECONOMY—I

Time : 3 Hours Maximum Marks : 100

Note : Answer questions as per the instructions

given in each Section.

Section—A

Note : Answer any two questions in about

500 words each. 2%20=40

1. How is economic development different from
economic growth ? Also explain the rationale
behind state led development strategy of
growth.

2. How do you explain the prevalent growth in
regional disparities in India ? Suggest

measures to reduce these disparities.

P.T.O.
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3. What led to population explosion in India in the
second half of the twentieth century ? How did
it affect the growth process of the Indian

Economy ?

4. Describe the structure of Indian Public Health
Care System. Suggest measures to improve this

system.

Section—B

Note: Answer any three questions in about

250 words each. 3x10=30

5. How do we measure inequalities in income
distribution ? Discuss in brief the different
measures that can be taken to reduce these

inequalities.

6. Explain in brief the different approaches to
measures poverty in India. Also indicate the

limitations associated with each of them.

7. Compare the trend in the intersectoral transfer

of workforce in India.
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8. How is the term labour force defined ? State the
difference between rural unemployment and

urban unemployment.

9. State in brief the structure of Balance of
Payment statement. Also highlight the
importance of settlement account in it.

Section—C
Note : Attempt all questions from this

Section.

10. Distinguish  between any two of the

following : 2X7.5=15

(a) Natural resources and Man-made
resources

(b) QALY and DALY

(¢) Formal Economy and Informal Economy

(d) Gross fiscal deficit and Net fiscal deficit

P.T.O.
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11. Write short notes on any three of the
following : 3x5=15

(a) Macroeconomic Aggregates
(b) Mean Tariff Rate

(¢) Urbanisation

(d) E-governance

(e) Direct Benefit Transfer
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s, @ (3TedvmEA) (S W S )
PRI

faaar, 2023
MEZ.-145 : WRAT relemawar-1

gag : 3 g2 3Afermad 3 ¢ 100
T : Y&AF 9 4 G G & I ARIGER T

HIT—<h

T : o=l S g9 & ITHW TT9T 500 V< H
(9cd) JifST) 2x20=40

1. oTfefer faem, swfefer dafg 9 fvw weRr f=
g ? Wafg = T & faem orfa & 9@
THIYR it =& off Sifsu)

P.T.O.
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2. MY 9Rd &1 G9fg H yafea & Srammast

F I HY FW © 2 U SHEEAT B FH

FH F U G

3. Aigel W& % T O9M H 9Rd W SHEen
foopie = 1 SO 9 ? T YRAE STefoawen
#1 foerra uferan &1 &9 gwifad fewan ?

4. YRAE HESeh R I@WA YUl i
G 19U RIMUl 39 99 R GUTH &
U GEEu

HT—9

e : fH=l T 9991 & IT TTHT 250 Vsl H
(I&) T 3x10=30

5. 3™ foaquor ¥ SEHEAeT i 89 f&9 YR Hud

g ? JUMAIEl W %H W & fau feu SH
el U T FEY W F=l it
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6. 9Ra H faefaar &t wom & fou fafv= surm
®1 He9 ° = Sl 399 9 ToE 9 SEl
drmew &1 ot gfa wifsm)

7. 9Rd W S & T TIMIAROT & TSl
1 Fel hifSIq|

8. ‘gW g’ Wk I %y R femam S © 2
IreiorT SIS S IRl aUST § ST SdiEu)

9. YTAM Y TAH Hi G HI HEY H TRy

g f9e@ @ & Hec i it TRy wifs)
qA—T
AT :39 9 F T gE  H  TH
ifsr
10. frefafea & @ fo=sl @ & &9 IR ==
HIfST 2x7.5=15
(%) Wiepfash GEEH SR qra-fafdq e

(@) QALY 3R DALY

P.T.O.
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() g sAdfemeren o sHivEIReR
qdTaE

Y

(%) Hohdd TSR ORT R g TSI

1T
11. frefafes & @ fe=l @w w dfaa femforl
fafe : 3x5=15
(%) HHfteTd i aqg
(@) 3Hd qeht
(1) LT
() g-wmed

(T) 998 Y a0l
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